[ Efficiency vs vertpos |

.................................................

.................................................

.................................................

......................................

1 10 0?
TP vertr (cr%)

llll!{

Icm%rég sratvector—teeeevt
ﬁs %%igﬁ 1RO TLIERS 1000evt
~ 0.5

L e S s o

4 é . . . . .

z 04:_ """ prrrreTrRTTTTTY [ oo
T SN S N SN WS
P NN HAS SN S
(] F . . . .

7 SO R S P

02

0.15F =i

10 20 30
TP vert z (cm)

~n 0.5 ; ; ; ; ; ; ;
Lodgh
s T o
o T R
0
D
O R . gt S

a5 Tt

L e
176 50 S £

s Sim.

effic |ency

Ratio

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


